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A.APR.A.1: Multiplication of Powers 1

1 The expression 2° -4° is equivalent to

1 27
2) 712
3) 8§
4) 8°

2 Which expression is equivalent to 3° - 3*?

1) 912
2) 9’
3) 312
4y 3’

3 The expression 3° -3’ - 3* is equivalent to

1) 27°
2) 27*
3) 3°

4) 324

4 The product of 3x” and 2x* is

1) 5x°
2) ¥
3)  6x°
4) 6x*°

5 The product of 2x* and 6x° is

1) 10x°
2) 12x°
3) 10x"

4) 12x"

Which expression represents (3x°y*)(4xy?) in
simplest form?

1) 12x°y°
2) 12x°y°
3)  12x7y*
4) 12x°y°

The product of 4x>y and 2xy” is

D 8x’y’
2) 8y’
3) 8x’y?
4) 8x’y*

The product of 6x°y* and 2x°y is

D 3xy?
2) s&x’y*
3)  12x°y*
4) 12x°y’

The expression (X*Z*)(Xy>z) is equivalent to
1 ) X 2 y2 7 3

2) x3y224
3) x3y3z4
4) x4y225
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The product of 3x*y and —4xy” is

1 —12¢x°y*
2) 12x°y*
3) —12x7y’
4) 12x°y°

What is the product of 10x*y* and 3xy>?
1) 30x'y’
2) 30x‘y°
3) 30x°y’
4) 30x°y°

What is the product of 3a°b and —2ab>?
1) a’b’

2) a’b’
3) -6a’b’
4) —6a’b*

The expression (—2a°b’)(4ab”)(6a’b?) is
equivalent to

1) 8a’b™
2) 48a’bh"
3) —48a°p"’
4) —48a°b"’
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Name:

What is the product of % x’y and % Xy>?

l 2,,3
1) 2xy
2) Xy

9

1 503
3) 18xy
4) LX3y4

18

The product of 6x* and X is
1) 6x?

2) 6Xa +1

3) 6ex?

4) 6x7*

If x = 5%, then the value of 5x is
) x+1

2) 6

3) a+5

4) 5a+l

Which equation is always true?
1) x*ex’=x

2) 3x ° 32 — 92x

3y —°=1"

4) 70 e7"=7%
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23.42=23|(23)1=23.24=2T
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